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A, =(A(@*+h?)¥?+B,a’)/h?

2, 6,16, 32, 58, 94, 144, 208, 290, 390 rgf_findrecur

By =3By — 2By — 2By 3 +3By 4, — By 5

rsolve

B, = (2k(4 + 3K + 2k?) + 3 3(~1)*) /12
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Mpnmep 2

AEF =P(y, A, +7,A, +7.A,) [ (b - C)Z,

A, =2C,c%g> / h?,
A, =2b(C,b+Cyc)d? / h?,
A, = (C,d3c? + Cod3ch + Ced®b? + C,cb? + Cybp c? + Coc™b + Cye”)c?.

C, = 2k*(10k*=7) /3, C, =4k (5k? - 2) /3,
C, = -2k, C,=C,/4,
C. =k?(10k*-13)/3 C. =k?(5k>+1)/3,

C, =50k’ (k? —1) +8(2k +1),C, = 4(5k* — 7k2 +1),
C, = 2k2(5k*—8) / 3,



Mpnmep 2

500 -
1400

1200
450

1000

200 400

600 —

350 +

400 H

200 300 4

JlTomoHocoBcKue yteHusa 2016



h, ¥

a)

W A A

0)

PabuHoBuu U.M. Kypc cTpontenbHom

MeXaHNKUN CTEPHKHEBDLIX CUCTEM. M.: OHMI-(C,
2012.-377c.
+
< i 9 X B
Q —
g -
o o= ¢ o
D b l 0' C

JlomoHocoBcKkue yteHusa 2016



Mpumep 4

h=7 ‘,;l“\
li:
| A ’,‘
3 3 3 I\
6h’
“ \E /\‘ J,'; N k=S,
A = 2k® —3k*(L+(-1)*) +k(1+3(-D)"), . A

C, =k>—(3/2)k*(1+3(-1)*) + 1/ 2)k (25+9(-1)") —6—3(—1)'(;
¥, =2k3 -3k*(1+3(-1)*) + k(19 +9(-1)*) -9 -15(-1)*,
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n=6

Mpumep 5
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Mpumep 5
Cxema BO3MOXKHbIX CKopocTen. KuHemaTn4eckum rpad

P

D @i (X, — %N, )=0, 2 @, (Yn,~ Yy, )=0k=1..15 %
i€Qy 1€Qy

w,5=1 0,5 =-1, @,19 =1 Q ={12,3,29,16,5,6,32},
Q, ={25,26,7,8,9,10,11,12,27, 28,32}
@311 = =1 @797 =1, @, 58 =1,

Q5 ={25,19,2,3,4,5,6,32}
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